
BECAUSE OF THE INQUISITION, SCHOLARS, SCIIENTIST, AND ANTIQUIST HAVE 1 A LIMITED SOURCE TO 
BEGIN ANY ‘TYPE OF TIME OR CALENDAR SYNCHRONIZATION



EVERY N.A.S.A. COMPUTER HAS AS A REFERENCE, THE IDES OF MARCH AS THE BEGINNING OF THE 
JULIAN CALENDAR. THOSE ORGANIZATIONS THAT STÉILL KEEP THE JULIAN, JANUARY 14, l990(GREGORIAN) 
BECAME JANUARY 1, 6703(JULIAN)

TO TRY AND EXPLAIN THE DIFFERENCE BETWEEN THE TWO CALENDARS, WOULD TAKE AN ENTIRE 
PUBLISHED BOOK.

LETS BEGIN AS THE ONLY REFERENCE, WHICH IS THE JULIAN. TO TRY AND EXPLAIN "THE AMERICAN 
INDIAN WHICH WOULD BE IN THE IOTHOUSANDTH PLUS YEARS WOULD TAKE A BIGGER AND MORE 
DETAILED PUBLISHED BOOK, WHICH YOU AND I HAVE NEITHER THE TIME OR YEARS TO WRITE IT. BESIDES, 
WHO WOULD READ IT HAVING THOUSANDS OF SCHOLARS DEBATING THE BOOK, TRYING TO PROVE NOT 
CORRECT. REMEMBER! IE’ AN INDIAN KNOWS AND „LIVES BY THIS TYPE OF CALENDAR, WHITE SCHOLARS 
HAVE THE RIGHT TO CLASSIFY IT, BECAUSE THE AMERICAN INDIAN WAS ALLEGED TO HAVE NO SCIENCES 
IN THEIR CULTURE.

NOW, THESE SAME N.A.S.A. COMPUTERS HAVE A REFERENCE, THAT JULIUS CAESAR MADE A 9ODAY 
CALENDAR ADJUSTMENT BEFORE STARTING THE JULIAN. BUT THE REFERENC GIVES NO HINT, AS TO THE 
DIRECTION THE ADJUSTMENT WAS MADE. TO SHOW THE DIRECTTON THIS ADJUSTMENT WAS MADE 
ACCORDING TO TRIBAL REFERENCES, IS ANOTHER MATHEMATICAL LESSON THAT HAS TO HAVE 
BEGINNING REFERENCES BEFORE

IT COULD BE UNDERSTOOD.

IDES OF MARCH, IS THE 15TH. OF MARCH THAT IS AT A FULL MOON. STARTING FROM THE ANCIENT THAT 
CAESAR HAD, HE BEGIN WITH A TIME SERPENT, CREATORS DAY, lST.BORN EQUATION, lST.BORN PROPHECY, 
AND _‘HE MOON ADJUSTMENT, COMING TO HIS 4665 JULIAN YEAR(46BC.). BUT THESE ARE TRIBAL 
EQUATIONS, SO HE HAD'TO FOLLOW THROUGH BY TRIBAL TRADITIONS AND STARTED HIS JULIAN AT 
HIGHNOON. THERE WILL BE SCHOLARS THAT STATE HIS JULIAN WAS OFF ONE COMPLETE YEAR, WHICH 
CAN BE ACCOUNTED FOR AGAIN BY TRIBAL 'IIME TRADITIONS. IT CAN BE FOUND (PLUTARCH, IN JULIUS 
CAESAR CAP.87; DIO CASS. XLIV.; VIRG.GEORG. 1,466)

NOW CAESAR HAD MADE THE ROMAN EMPIRE RECOGNIZE A TREATY OVER 1,000 YEARS ( WITH THE 
WHITE TKIBE OR THE KLEOPATRIA TRIBE THAT THE GREEK EMPIRE WERE ALSO FORCED TO RECOGNIZE. 
FOR THIS REASON CAESAR WAS ASSASSINATED BY MEMBERS OF THE ROMAN SENATE. THIS WAS IN THE 
YEAR 4666 OR 45BC.

UPON CAESAR’S DEATH, WHICH IS RECORDED BY THREE WORLD DYANSTYS, THAT THAT SUN DID NOT 
GIVE IT'S LIGHT, SO CROPS FAILED AND THERE WAS A FAMINE THROUGHOUT THE WORLD. . .

THE SUN NOT GIVING ITS LIGHT FOR A FULL YEAR, IS A PERFORMED TRIBAL _ RTTUAL BY TRIBAL AND 
WHEN THIS RITUAL IS DONE, THE DARK PERIODS ARE NOT TO BE COUNTED IN CALENDAR TIME. CAESAR 
KNEW HIS ROMAN EMPIRE WOULD COUNT THE PERIOD, WHICH WOULD PLACE EMPIRE OUT OF TIME 
SYNCHRONIZATION. SO CAESAR KNEW BY BEING TAUGHT TRIBAL EQUATIONS, THAT HIS ASSASSINATORS 
WOULD KILL HIM AND THEY WOULD COUNT THE PERIODS OF DARKNESS.

THERE IS NO QUESTION IN SCHOLARS MINDS THAT CAESAR LOVED HIS EMPIRE BECAUSE THE MONTH 
OF JULY IS NAMED AFTER HIM. HIS WAS FAIR TO HIS WHITE RACE AND HIS WHITE TRIBE. AN ALLEGED 
COPY OF THIS TREATY THAT CAUSED HIS DEATH STTS IN CENTRAL PARK IN NEW YORK CITY, AS THE 
BOUNDRY LINE FOR THE TREATY OF MANHATTAN OF JULY 14, 6362 OR l649AD.


